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Honors Advanced Algebra
Target 7A: Walk Around
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At which point do the two equations 3x + 5 =y + 4x and y = x? intersect?

At which point do the equations y = |x + 3| and 15x + 20y = 0 intersect?

Find the intersection point of y = log x and y = 3x.

Find the intersection of the two equations y = 17x + 1 and y = -24x + 68.

Imagine you're interviewing for a position with Shmoop (your dream job, obviously) and
you don't want to screw it up. Dave, the interviewer, asks you to find the intersection of
the equations y = -x + 8 and y = -2x + 16. What do you tell him?

Which of the following points is on both line y = -x + 2 and line y = x + 22
(A) (0, 0)

(B) (0, 1)

(©) (0,-1)

(D) (0,2)

When estimating the intersection of two lines on a graph, you can get a precise answer. [s

this statement true or false?

(A) True, since graphs are always exactly correct when it looks as if the line is
specifically at one point

(B) False, because one can never be completely sure if the graph is correct since it
depends highly on the sensitivity of the graph

(C) False, since graphs offer limited visibility and it's usually impossible to see the entire
function

(D) Both (B) and (C)



8. Your classmate needs to find the points of intersection of two very simple equations. She
makes a table that lists 5 or so integers and finds a point of intersection. She thinks she's
done and goes to play outside. What do you think of this?

(A) She's definitely done. She should go have fun!

(B) A table of values may not show the full story because there may be points of
intersection missed, but they're easy equations so she's probably done.

(C) She isn't finished until she's graphed the two functions and visually seen their
intersection point.

(D) There's no way she's finished. She has to calculate it mathematically only.

9. When you find a point on a graph that you think is the intersection, the best way to
double check your answer is to:

(A) Plug in the x value to see if one of the y values of one of the equations matches the
one you approximated from the graph

(B) Plug in the x value to see if both of the y values of both of the equations match the
one you approximated from the graph

(C) Plug in the y values to see if one of the x values of one of the equations matches the
one you approximated from the graph

(D) None of the above

10. The most accurate way of finding the points of intersection of a system of equations is
via:

(A) A table of values
(B) A graph
(C) Using algebra to solve for the variables

(D) None of the above



